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1 Introduction
During 3GPP#71bis, we have agreements about power splitting in E-TFC: taking sequential power splitting, but the priority rules and other details need to be discussed. In this contribution, we will continue discuss these issues and will give some analysis and suggestions. 

2 Discussion
The E-TFC procedure in SC-HSUPA can be described as:
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Based on the above flow chat, open issues can be followed as below:
Issue1:when will UE perform power splitting procedure?
There can be two options as following for the moment of performing power splitting:
· Opt1: Perform for all times
· Opt2: Perform only in the power limitation state

For opt1, UE will always perform power splitting in every TTI, setting the priority of each carrier, estimating the available power of each timeslot, and allocating power for each carrier, no matter that UE available power is sufficient or not.
For opt2, when receiving the power grant on each carrier, UE should detect the power limitation status in each timeslot. If the total granted power is smaller than UE maximum available power in every timeslot, i.e., the power of UE is enough to the total granted power, UE needs to do nothing except processing E-TFC selection based on the granted power on each carrier; if the power is limited in any timeslot, UE should perform power splitting procedure. In this option, the UE need to make the judgment that whether the UE power is limited, but have not to calculate the priority and allocate power for configured carriers in each TTI.
Indeed, the difference between two options is little, but from the point of the complexity of UE implementation, we propose to choose opt2.
Proposal1: If the total granted power is smaller than UE maximum available power in every timeslot, UE don’t need to perform power splitting procedure; if the power is limited in any timeslot, UE should perform power splitting procedure.
Issue2: When UE perform power splitting according to sequential approaches, some rules need to be specified to prioritize the carriers, and how to find an appropriate rule?
We divide the issue into two cases: initial transmission and retransmission.

· The priority between initial transmission carrier and retransmission carrier.
When the granted power on some carriers is enough to retransmission, some benefits will be gained by HARQ combination. We believe that these carriers have higher priority than other ones in order to avoid the higher residual BLER.

proposal2: When the granted power on some carriers is enough to retransmission, these E-DCH retransmission carriers have the higher priority than E-DCH initial transmission carriers.
· The priority amongst multiple initial transmission carriers or multiple retransmission carriers.

From cell throughput, UE throughput, and system interference performance of view, the main aspects affecting these performance can be the granted physical resource (including the granted power, timeslots, and the codes resource), the interference on each carrier, and the remaining power, etc, where, the granted resource can be denoted as PRRI (Power Resource Related Indicator), TRRI (Timeslot Resource Related Indicator), CRRI (Code Resource Related Indicator), and the interference on each carrier can be denoted as Pe-base.
· the more the Pe-base is smaller, the less uplink interference the Node B receives.

· TRRI*CRRI can represent the granted resource amount. More granted resource amount, more data amount can be transmitted.
In summary, the following rules of carrier priority can be taken into account when UE set priorities:

Rule 1: taking Pebase as the priority rule. The carriers with smaller Pebase have higher priority.
Rule 2: taking the granted physical resource (PRRI, TRRI, CRRI) as the priority rule. The larger the granted resource is, the more data can be transmitted. So the carriers with larger granted physical resource have higher priority.
Proposal3: When UE establishes the priority, the UE can take the following factors into account: the granted physical resource (including PRRI, CRRI, and TRRI), the Pe-base, and the remaining power.
After power splitting, it is possible that some carriers have not been allocated any power, we seggust that no data can be transmitted on the carriers which are allocated no power

Proposal4: No data can be transmitted on the carriers which are allocated no power.

In summary,the whole E-TFC selection procedure can be discripted as the following figure:
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3 Proposal
In this contribution we discuss E-TFC selection approaches in LCR TDD MC-HSUPA. We suggest RAN2 to discuss the issues mentioned above and agree the following proposal:
Proposal1: If the total granted power is smaller than UE maximum available power in every timeslot, UE don’t need to perform power splitting procedure; if the power is limited in any timeslot, UE should perform power splitting procedure.
proposal2: When the granted power on some carriers is enough to retransmission, these E-DCH retransmission carriers have the higher priority than E-DCH initial transmission carriers.

Proposal3: When UE establishes the priority, the UE can take the following factors into account: the granted physical resource (including PRRI, CRRI, and TRRI), the Pe-base, and the remaining power. 

Proposal4: No data can be transmitted on carriers which are allocated no power.
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HARQ entity determines the carriers for transmitting according to the grants. Each of the HARQ sub-entity of the associated carrier shall choose whether the grant of the carrier is used for new transmission or retransmission presumably( For one carrier, if the grant is not enough for any retransmission of the carrier, it should be used for new transmission)



